=Y

[

ALT-23

3.

(-

=L,

Pos.

Description

Quantity

Remarks

Handle and thumb turn inside

Handle outside

Bolt M5x90

Nut M5x20

Spindle 8x8x135

Bolt M5x28

FIX 5167

@] slwlo] =

Nut M5

1
1
3
3
1
2
1
2




